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taken in conjunction with the numbercase suffix, the two together constituting the ending for a
noun: xvp1og is thus Kvp1-, root (word stem); and -oc, ending.

E3.37 In summary: as a rough working rule of thumb it could be said that the stem is that part of a
word which does not change in a given flexion, and the ending is the part of the word form that
changes or inflects in that given flexion.

E3.38 The morphology of declined words is straightforward, and is covered adequately in
Appendix D. The morphology of verbs is considerably more complex, and needs further
explanation and summary here.

E4. THE MORPHOLOGY OF THE GREEK VERB

E4.0 MORPH SLOTS OF THE VERB

E4.01 Each form of a verb is constructed upon the basis of that verb’s lexal (which is, or is
derived from, the root), to which are added the other morphs that are required in order to indicate
each relevant detail of information about it every time when it is being used.

E4.02 A Greek verb may have a preposition prefixed to it. A verb without a prefixed preposition
is called a simplex verb (i.e., “single lexal” verb, or, “simple lexal” verb); a verb which has a
prefixed preposition is known as a complex verb or a compound verb (i.e., “combined lexals”
verb).

E4.03 A simplex verb contains a minimum of three morphs and (usually) a maximum of five
morphs; a compound verb thus has a minimum of four morphs and (usually) a maximum of six
morphs.

E4.04 The three morphs always to be found in a verb form are: the lexal, the aspect morph, and
the ending. The ending will be: the pronoun, if the verb is indicative, subjunctive, optative or
imperative mode; the infinitive morph, if it is infinitive mode; or the numbercase morph, if it is a
participle. A compound verb will have a fourth morph: the prefixed preposition.

E4.05 These four morphs always occur in the fixed order: preposition, lexal, aspect, ending. Each
position where a morph can occur is called a slot, and these four morphs thus can be described as
providing four slots for verb information. Each of these four slots will be filled by one particular
morph out of a range of alternatives — a particular preposition (out of those available), a particular
lexal, a particular aspect morph, a particular ending. Each of them is thus like a selection switch —
it selects for that slot a particular meaning out of the range of alternatives available.# These four
morph slots are framework morph slots: they provide the basic framework for the structure of the
verb: they need to contain a morph, and if they do not, the absence of a morph is itself significant.

E4.06 In between the four framework morph slots there are five other slots, four of which are like
simple on/off switches — for these slots there is no range of alternatives. Rather, there is only one
morph which can be placed into a given slot, and if that morph is present it switches the verb to
have that particular meaning. These five are optional morph slots — they may or may not contain a
morph. They are, in order: past time, reduplication, passive voice, future time, and specifier
(whose function will be described in #E4.8). In the nature of the case, because of their respective
meanings, these five morphs cannot all be used at the same time in a word. In fact, in normal use
only one or perhaps two of these five morphs will be present simultaneously, though some rare
forms could extend this to three of the five.

E4.07 The order for the nine slots (with framework slots in italics, and optional slots in standard
type) is: Preposition, past, reduplication, lexal, passive, future, aspect, specifier, ending .
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E4.08 The information jointly supplied by the morphs which occupy these slots will define the six
variables for a particular form of a verb: the basic lexical meaning of the verb, and the person,
number, tense (time and aspect), mode and voice of the verb in the given usage. To state each of
these variables for a particular verb form is to parse it, and the five elements of grammatical
information should be stated first in the order given here, followed by the lexical form and the
meaning of the word. It will be noted that the first two grammatical variables mentioned (person
and number) locate the form within its flexion, and the next three (tense, mode and voice) identify
the flexion in question.# Thus Avoduede is parsed as: 1st person plural, aorist subjunctive middle
of A, “T loose”. Note that in regard to tense, the important factor for the Greeks was not so much
the time when the action was placed by the verb, but the type of action that it was, that is, its
aspect, and therefore it is wise for the student to draw attention to this by putting both of these in
brackets after the name of the tense. Thus for £&Avete: 2nd person plural, imperfect (past time,
durative aspect), indicative active of 1w, “I loose”.

E4.09 In parsing a participle, the information given will be: case, number, gender, tense (aspect),
voice, followed by the fact that it is a participle and the lexical form and meaning of the word.
Thus Avouévoic is parsed as: dative plural masculine/neuter of the present (durative)
middle/passive participle of AVw, “I loose™; Bévtog is parsed as: genitive singular masculine/
neuter of the aorist (punctiliar) active participle of 7i6nut, “I place”.

E4.1 SLOT 1: THE PREPOSITION

E4.11 There are eighteen prepositions and a small number of other words which can fill this slot.
These prepositions are the eighteen in #8.7. There can be two prepositions prefixed together to a
verb (for example, ovv-avd-keyor, “I recline at table together with others”). A double
preposition before a verb is treated as a single morph (#E4.16).*

E4.12 Large numbers of New Testament verbs are always simplex, but on the other hand
compound verbs are common. The simplex form is not found in the New Testament for some verbs
(most notably -Baive, -Bifdle, -inu, -teiva, -téuve, -pénw, -Tpifw, -xéw, and -y vvve. (The
hyphen in front of these forms is used to indicate that in the New Testament they always have a
prefixed preposition.)

E4.13 A particular verb may be found with a large variety of prepositional prefixes: in the New
Testament, AouPdva is used in 13 different compounds with prepositions, &yw and ¢pépw are each
used in 14 compounds, &pyouct and -Baive in 15 compounds, 7ifnut in 16 compounds, fdAA®
in 17 compounds, dyw in 18 compounds, and {ornut in 19 compounds. Writers were free to coin
new words by prefixing prepositions to verbs in new combinations, and numbers of such
neologisms occur for the first time in Greek literature in the pages of the New Testament.*

E4.14 Some nouns, adjectives and adverbs are capable of being prefixed to appropriate verbs like
prepositions: for example, GyAog in dyAomoiéw, “I gather together a crowd”; {orf in {womotéw, “T
make alive”; kakdc in kekoAoyéaw, “I speak evil of”; £ in edayyeAifw, “T announce good news”;
and so on. These prefixes can be compounded together with a preposition, as for example in
ovvelwonoinoev (Ephesians 2:5 and Colossians 2:13) — notice that in such a compound the
augment comes after the preposition and in front of the other prefix being added. As these non-
prepositional prefixes usually function as part of the lexal of the particular word (that is, taking
preposition, augment and reduplication in front of them), they are to be regarded as included
within the lexal (Slot 4). However, where a non-prepositional prefix takes an augment after
it, this prefix is to be viewed as filling Slot 1. Example: evayyeAdilw (€0 + cyyeAilw), aorist
evnyyéioa.

E4.15 Both prepositions and also these other less common prefixes have lexical as distinct from
grammatical meaning, so that a compound word contains two (or, as the case may be, three) lexals.
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The prefixed lexal interacts with the verb lexal to produce the lexical meaning of the compound —
sometimes this is a recognizable combination of the lexal meanings, and sometimes it is a new
meaning quite distinct from that of its components.

E4.16 As two prepositions prefixed to a verb do not retain their separate and distinct meaning but
fuse together in meaning (in combination with the meaning of the verb’s lexical morph), it is
therefore appropriate (and most convenient) for two prefixed prepositions to be viewed as and
treated as a single, combined prefix in Slot 1 (though separately noted in analysis of the verb).

E4.17 Sometimes a preposition is so closely viewed as an integral part of a particular verb that its
origin as a preposition is lost and it is treated as being a section of the verb’s lexical morph. In
consequence the augment is put in front of the erstwhile preposition: for example, éxa6n7o (Luke
18:35 and other passages), from ka@nuoa, “I sit”; rigiev (Mark 1:34) from diginut, “I allow”.

E4.18 On the other hand, sometimes a verb which begins with preposition-like phonemes is
treated as a compound verb even though the phonemes are in fact really part of the verb’s lexical
morph. Thus throughout the New Testament and in koineé Greek generally diakovéw is always
treated as a compound verb (and augmented as if it were one, as in dinxdvel, Mark 1:31, etc.),
although strictly speaking it is not.

E4.19 For prepositional allomorphs in front of a vowel, see #8.79; #E3.22.

E4.2 SLOT 2: PAST TIME

E4.21 There is only one morpheme which can fill this slot, and when it is present in a verb form it
indicates that the action of that verb refers to past time. This morpheme, which is known as the
past time morph or augment, is only found in the indicative flexions of a verb, because only the
indicative mode can contain indications of time (except the rare future participles/infinitive).

E4.22 The three tenses which are augmented are the imperfect, the aorist, and the pluperfect; but
the pluperfect may be found without the augment as it can indicate its identity (and its past time) in
another way (see #E4.81).

E4.23 The augment has a number of allomorphs, as set out here.

E4.24 Where a verb commences with a consonant, it indicates past time by adding the prefix &-,
called the syllabic augment. This is the Syllabic Augment Rule.

E4.25 Where a verb commences with a short vowel (including a vowel in a short diphthong), the
augment for that verb consists of a process morph (called the temporal augment), which is: the
lengthening of that short vowel to the corresponding long vowel:

The vowel: a £ 0 at av o1
lengthens to: n n 0] n nv ®

This is the Short Vowel Augment Rule, or the Temporal Augment Rule.

E4.26 A verb has a zero morph augment where it commences with a long vowel (-, -, v-, or @-)
or long diphthong (&1-, £v-, or 0v-; though some examples are found of verbs in gv- lengthening
to nv-).

E4.27 Some verbs which could have been expected to conform to the appropriate rule (from those
which have just been set out) do not do so but take, instead, a double augment: both an affix and
the process augment.*’ There are not many verbs which do this, but many of those that do are very
common ones. Thus: dyw reduplicates its first syllable and then takes the temporal augment,
producing the form 7fyayov as its aorist. Similarly the suppletive aorist of ¢pépw, with root &yx-
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(which has come from évk- — see #E2.77) produces the form 7jveykov. avoiyw has the form
avé@&a as an aorist (as well as some other variants). 664w and dVvapoa take first the syllabic
augment and then the temporal augment to give the imperfect forms 176cAov and révvaunv
respectively; some others also follow this pattern. (See also #4.6.)

E4.3 SLOT 3: REDUPLICATION

E4.31 There is only one morpheme which can fill Slot 3, and when it is present this morpheme
indicates that the verb is perfective aspect. Because reduplication is an aspect morph, this morph is
retained in all modes of a verb; contrast the past time morph, which can appear only in the
indicative. Reduplication is a combination of process morph and affix. In its basic form it consists
of this process: double the first consonant, and then separate these two consonants by -¢-. But there
are complications which derive from the phonemic characteristics of the first phoneme or
phonemes of the verb.

E4.32 Where a verb commences with the semi-vowel p-, the verb reduplicates with ép- instead of
pe. Example: pintw — Epproa.

E4.33 Where a verb commences with a single aspirated consonant or with an aspirated consonant
followed by a liquid, then (in accordance with #E2.82) the verb will be reduplicated with the
unaspirated voiceless equivalent of that initial consonant, followed by the letter -£-. Examples:
Popéw — mePopnKe;, xpiw — KExpika; OAIPw — TE61pa; Bvijokw — TEOVNKCL.

E4.34 Where a verb commences with any single consonant other than an aspirate or p-, or where
it commences with a stop consonant followed by a liquid, then that initial consonant is
reduplicated with the phoneme -&-. (This is the basic reduplication pattern.) Examples: A0@ —
AEAVKO;, VIKOW — VEVIKNKQ, TVED — TETVEVKO.

E4.35 Where a verb commences with two consonants the second of which is not a liquid, or with
a double consonant, the reduplication takes the form of the syllabic augment, -&- (which, being an
aspect morph when functioning as reduplication, is retained in all modes of the perfect). Examples:
nTodw — Entonka; okdntw — oxapo; {Ntéwn — Elrmxa; ynoilw — éyrgika.

E4.36 Where a verb commences with a short vowel or a short diphthong (at-, av-, ot-), the
reduplication takes the form of the temporal augment (which, being an aspect morph when
functioning as reduplication, is retained in all modes of the perfect). Examples: éArilow —
fATiKe; oitéw — 1itnke; avédve — niénka; oikodouém — dxodounko..

E4.37 When a verb commences with a long vowel (including 1- and v-) or a long diphthong (et-,
£V-, 0v-), the verb has the zero morph for perfect reduplication morph. Examples: votepén —
vorépnka; evpiokm — elpnke; idopon — fopon; EE0vBevén — EEovBévnuai.

E4.38 There are verbs with morphemic allomorphs as reduplication which are exceptions to the
above general statements. There are three main groups of these. One group of New Testament
verbs which commence with a short vowel take syllabic reduplication. This is also referred to as
“Attic reduplication” (though, like the Attic Future [#C8.85] this feature is “found also in other
dialects and even in Homer”). Syllabic reduplication consists of reduplicating the initial vowel and
first consonant of the lexal, while still lengthening the original initial vowel with the temporal
augment (in accordance with #E4.36). These verbs retain their syllabic reduplication, including the
temporal augment, in their non-indicative modes. There are six verbs (two of them suppletive
verbs) which have this syllabic reduplication in the perfect tense. The occurrences of syllabic
reduplication in the New Testament (with the page number of the listing of occurrences in Clapp
and the Fribergs, Vol 1) are:
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dxovw hear (Naxof)  dxijxoc (10 occurrences; p.58)
EYelpw raise up (Véyep) Eyriyepxka  Eyniyepuon (11 occurrences; p.570)
Elativo drive (VéLo) EAridaxor (John 6:19 only)
Epyopon come/go (EAv])  éArjAvbo (28 occurrences; p.904)
amoiivur  destroy (VoA0) 0AdAa (7 occurrences; p.184)
Pépw carry/bring  (Vév[elx)  éviivoyo (Hebrews 11:17 only)

These three New Testament verbs also take syllabic reduplication, but there are no instances of
their perfect tenses in the New Testament:

EAéykw correct (Nérev)  édrAeyuaa
Suvout vow (V6uo) OUBLOKCL
opvoow  dig (omvy)  dpdpvya  Spdpuyuca

E4.39 The two other groups of verbs with irregularities in forming their perfect tenses are: (a)
Two verbs commencing with a short vowel take both the temporal augment and the syllabic
augment as their reduplication. Thus: dvoiyw — davéeya, opdw — édpaka (sometimes also
£opaka occurs; never “@poxc’). (b) Certain verbs take -0- as their central vowel in the perfect
(either in addition to or in place of reduplication), usually using it to replace another vowel; and
some others take -o-. See complete list, #C8.6.

E4.4 SLOT 4: THE LEXAL

E4.41 This slot will be filled in every verb form. There are one thousand morphemes in the New
Testament which can fill this slot; that is to say, there are one thousand verbs used in the New
Testament (#10.18; #C9.3) and this is the slot for the verb’s lexical morph or lexal.

E4.42 Each verb’s lexal is capable of having a number of different allomorphs as determined by
phonemic (and other) factors: for example, AaAe- has the allomorph AoAn- when it occurs in front
of a suffix commencing with a consonant. (These are covered in #E2.) Some verbs have individual
lexal allomorphs in particular flexions: for example, SaA- (the lexal of BdtAAw) has, by metathesis
(#C2.96), BAa- in the perfect flexion, and this then becomes BAn- by the Short Vowel Lengthening
Rule (#E2.31). These allomorphs will be noted when encountered.

E4.43 Second and third conjugation verbs (and some first conjugation verb lexals) take infixes —
affixes inserted into this slot. These infixes are durative morphs, and may be either inserted within
the lexal, or are attached to the beginning or the end of the lexal, within the lexal slot.

E4.44 Some durative infixes are added, within the lexal slot, to the beginning of the lexal.
Fourteen New Testament verbs form their present/imperfect tenses by taking a durative morph
which is known as the durative reduplication. This is formed in the same manner as the perfective
reduplication, but using -i- rather than -&- as the reduplication vowel. Examples:

stem Jo-; present indicative active, didwut; imperfect (past durative), £6i6ovv;

stem O¢-; present indicative active, TiOnut (not “6i6unt”’; #E2.82);

stem o7Ta-; present indicative active, iotnut (not “cioTnut’); imperfect, ioTnv.

E4.45 A durative infix may be inserted within the lexal itself: for example, the -1- of onuaive,
“I indicate”, the lexal of which is onuayv- (#E3.17)

E4.46 Some durative infixes are added, within the lexal slot, to the end of the lexal: for example,
the -ox- of apéokw, “I please”, the lexal of which is dpe-.

E4.47 Certain verbs add both an internal infix, that is, within the lexal, and also a infix at the end
of the lexal morph: for example, the -v- and -av- of pavéave, “I learn”, the lexal of which is
uoaB-. These two insertions are part of the one morph, a durative infix. A single morph which has
two parts to it like this has the technical name of a discontinuous morph.
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E4.48 Each verb of the three Conjugations which takes a durative morph infix will be found listed
by Conjugation in #C2.1-C2.5; #C3.1-C3.4; and #C5.1-C5.7.

E4.5 SLOT 5: PASSIVE VOICE

E4.51 There is only one morpheme which can fill this slot, and when it is present in a verb form it
indicates that the verb is passive voice.

E4.52 Furthermore, when the following slot is not filled by a future morph, the presence of a
passive morph also indicates that the verb form is aorist. That is, the passive morph is inherently
aorist, but is “switched” to future passive if followed by the future morph.

E4.53 This morpheme is represented by these allomorphs:

VERB CATEGORY IN THE PARTICIPLE, IN OTHER
SUBJUNCTIVE & OPTATIVE MODES

Verbs with direct flexion passives (#C4.4): -€- -n-

All other verbs, all Conjugations: -O¢- -0n-

E4.54 In the subjunctive of all verbs, the -&- of the passive morph is contracted with the
subjunctive vowel (the lengthened neutral morph) which follows it. This contraction is marked by
a circumflex.

E4.6 SLOT 6: FUTURE TIME

E4.61 There is only one morpheme which can fill this slot, and when it is present in a verb form it
indicates that the action of the verb refers to future time.

E4.62 This morpheme is represented by these allomorphs:

VERB CATEGORY: ALLOMORPH
After a liquid: -&-
In certain specific verbs in -1{- (#C8.88): -€-
In the two direct-flexion futures (#C4.2): %]
In all other circumstances, all Conjugations: -0-

E4.63 The future morph always collocates with the neutral morph; that is, it always takes the
neutral morph after it. For practical purposes this means the same as saying that the future morph
must have the equivalent present tense endings after it. (Note especially that -o- followed in a verb
form by a vowel other than the neutral morph would not be the future morph but the punctiliar
morph of the aorist — see #E4.77. Note also that in numbers of irregular verbs the future stem will
differ from the present stem, in particular where the present contains a durative morph.)

E4.64 In those word forms in which the future morph is -&-, this always contracts with the neutral
morph which follows it.

E4.7 SLOT 7: ASPECT

E4.71 This slot will be filled in every verb form, with these exceptions:
(a) in the perfect and pluperfect middle/passive of all Conjugations;
(b) in Third Conjugation verbs in the durative (present and imperfect) and the third aorist;
(¢) in the aorist passive indicative (as this follows the paradigm of the third aorist).

These all thus have the zero morph in the aspect slot.

E4.72 There are three morphemes which can fill this slot: the neutral morph, the punctiliar morph,
and the perfective active morph. The aspect morph slot is thus a three-way switch, which has the
positions “neutral”, “punctiliar”, and “perfective active”.

E-
ca
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E4.73 Each Greek verb possesses a “basic” aspect which is already inherent in its lexal and which
can therefore be referred to as its inherent aspect. When the aspect “switch” is in the neutral
position, the inherent aspect of the verb’s lexal is allowed to flow through into the meaning of the
verb form, unmodified or “unswitched” by the aspect morph. That is, the neutral morph has a
neutral affect on the nature of the verb — a durative lexal plus the neutral morph leaves the aspect
of the verb still durative, a punctiliar lexal plus the neutral morph leaves the aspect of the verb still
punctiliar. When the aspect “switch” is in the punctiliar position (that is, when there is a punctiliar
morph in the aspect slot), then the aspect of the verb is “switched” to punctiliar (that is to say, the
action of the verb stated as completed, or viewed in its entirety). When the aspect “switch” is in the
perfective position (that is, when there is a perfective morph in the aspect slot), the aspect of the
verb is “switched” to perfective (that is, the action of the verb is seen as completed and its effects
continuing to the writer’s time, or as initiating a new state of affairs that is continuing).

E4.74 The perfective morph is only used in the active voice, and thus it indicates voice as well as
aspect: that is to say, it is the perfective active morph, a multimorph (#E3.27). In the middle/
passive flexion this slot is empty (that is, has a zero morph: #E4.71) and perfective aspect is
indicated by perfective reduplication alone (#E4.31).

E4.75 There is no durative morph for use in Slot 7. For verbs which are Second or Third Conju-
gation and thus inherently punctiliar, a durative infix will be inserted into the lexal slot itself when
a durative form is required (#E4.43). (There are a small number of Second and Third Conjugation
verbs which do not take such a durative infix: #C2.6-#C2.8; #C3.3, #C3.7.)

E4.76 The neutral morpheme has these allomorphs:

CIRCUMSTANCES ALLOMORPH
Form final, or before upsilon or a nasal: -0-
In the indicative, before a morph commencing with -¢&-: %)
In the optative: -0-
In other circumstances: -&-

For the subjunctive, -0- lengthens to -@- and -&- to -7-.

E4.77 The punctiliar morpheme has these allomorphs:

CIRCUMSTANCES BEFORE: A CONSONANT A VOWEL
Lexals with -&- plus a liquid (see below): -L0- -1.0-
Lexals with a liquid that does not come after -&-: -0 %)
In 8idwu, tiOnut, and -inu: -Kot- -K-
For all other lexals: -oo- -0-

[The apparent adding (above) of -1- to lexals with -&- plus a liquid is in fact the occurrence of
compensatory lengthening upon the loss of the sigma of the full punctiliar morph (see #E2.43).]

E4.78 The perfective active morpheme has these allomorphs:

CIRCUMSTANCES BEFORE: INFINITIVE A CONSONANT A VOWEL
Lexals with labial or palatal stem: Aspiration + € Aspiration + o Aspiration
Direct flexion perfects (#C4.3): -€- -o- %)

For all other lexals: -Ke- -Ko- -K-

(For labial or palatal plus -x- becoming the equivalent aspirate, see #E2.61, E2.62.)

E4.79 The subjunctive is a process morph, the lengthening of the neutral morph. But the neutral
morph does not occur in the aorist forms of first conjugation verbs. In the formation of their
subjunctive mode the neutral morph is therefore first inserted, so that it can be lengthened. Thus
the punctiliar morph and the (lengthened) neutral morph will occur together in the aspect slot for
the aorist subjunctive active and middle flexions. Similarly, the neutral morph occurs in the passive
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aorist subjunctive, where it contracts with the -&- of the passive morph -6¢-, the contraction being
marked by the circumflex accent.

E4.8 SLOT 8: THE SPECIFIER

E4.81 Certain other information may need to be specified about a verb, and if so it will be
specified here, which is, as it were, the “last chance” to insert any other information before the
ending of the word is added.

E4.82 The information which can be specified here is that the verb form is one of the following:

E4.83 Pluperfect tense active: insert -£1-. (As this specifies the pluperfect tense, the augment in
Slot 2 is not absolutely essential for the purpose of indicating past time for a pluperfect active
form, and Greek writers often chose to omit it.)

E4.84 A perfect active participle: insert -via- in feminine gender flexion
-0¢ in nominative singular masc/neuter

-07- otherwise.

E4.85 An active participle other than the perfect: insert -vz-, which becomes -i- in front of -¢
or -0-, by phonemic modification (see #E2.42). (The aorist passive participle also uses this
specifier, as it switches the voice to passive by inserting the passive morph into the form.)

E4.86 A middle participle: insert -uev-. (The future passive participle also uses this specifier, as
it forms the future passive by inserting the passive morph into the future middle forms.)

E4.87 Middle voice of the imperative or infinitive mode: insert -c6-. (This specifier has been
lost from the second person singular imperative forms, where the ending -0 appears to have
dislodged it, -c600 not being easy to pronounce.)

E4.88 Optative mode: insert -17) in the aorist passive, -1- otherwise, forming a diphthong with
whichever vowel precedes it in the word.

E4.89 Each of these specifier morphs is mutually exclusive — by their nature, only one of them
will be used in any given word. Each of them thus functions as an “on/off switch”, and when the
particular morph is present it “switches” the word form to the particular tense, mode and voice
specified.

E4.9 SLOT 9: THE ENDING

E4.91 This slot will be filled in every verb form. (If the slot is not overtly filled, the form will be
considered to have a zero morph.)

E4.92 The slot will be filled with one of three possible endings:
For the participle: the numbercase morph;
For the infinitive: the infinitive morph;
For all other modes: the pronoun morph.

E4.93 The numbercase morph used in any given form will be the appropriate morph from the
participle declension paradigms, #D5.

E4.94 The infinitive morpheme has three allomorphs:
When added to the neutral morph: -o€v (which then loses its -0- by syncopation, and the -¢-
contracts with the vowel preceding it);
When added to any other vowel: -vaa,;
When added to a consonant -ai.
For detailed rules, see #C6.14.
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E4.95 The pronoun morph has the range of forms and allomorphs as set out in the paradigms of
Appendix C. Pronouns normally also indicate voice, and some pronoun morphs indicate past time
or non-past time as well (see multimorphs, #E3.27).

ES. MORPHOLOGICAL ANALYSIS OF THE GREEK VERB FORM

ES.1 The identifying of the morphs of any given form of a Greek verb is called morphological
analysis or morphologizing. It enables the reader to obtain the information-input of each morph
and thus, by interrelating the meanings from all the morphs, to understand the total significance of
the word.

ES5.2 The most helpful way of understanding the process of morphological analysis is to work
one’s way through a number of examples to verify for oneself what is being done. The following
list (#E5.6) of more than 50 examples provides an opportunity for this.

ES.3 Phonemic modification which has affected the morphology needs to be “unscrambled” —
for example, where there has been amalgamation, when -1- has gone subscript, when contraction or
elision has occurred. This is indicated in these examples, as required, by placing the contracted or
elided vowel(s) in brackets.

ES.4 Where there is morphemic lengthening (that is, lengthening which is a process morph, and
conveys meaning), then in the case of the subjunctive the neutral morph as lengthened is given in
the aspect slot column, and in other cases the letter L is placed in the column of the slot for which
the lengthening indicates grammatical meaning (that is to say, is “morphemically significant™).

ES5.5 The first one of these examples is the only New Testament seven-morph verb which I have
been able to find, and I believe it is the only one in the New Testament. It occurs (in some
manuscripts only) in Mark 15:10. (If you come across any other seven-morph verbs, I would be
glad to learn of them.) The other examples are given in New Testament order.

ES.6 Work your way through the following examples. First of all, use a piece of paper to cover
up the page except for the “reference” and “verb form” columns, and on this piece of paper do your
own analysis of the verb forms into the nine morphological slots. Then uncover the page and check
your work against the worked examples.

1 2 3 4 5 6 7 8 9
REFERENCE VERB FORM PREP PAST RDUP LEXAL PASS FUT ASPCT SPEC END
Mk 15:10 mopededdkercav mop(o) € oe 0w K@ e oov
Mt 5:17 kartaddooa Kato Av o(®) ol
Mt 5:32  amodedvuévnv aro AE Av g  uev nv
Mt 5:33  amoddoelg ano ow o € g
Mt 7.7 avolyroete av(@) oy n o € T€
Mt  7:22  éEeBaioucv & € BoA 0 eV
Mt 17:11 ormoxatacticer  dmokora om c € l
Mt 17:22  rmapadidoocOo mopa o160 %) o6
Mt 18:28  amddog ano oo %) S
Mk 3:11  zmpocémimrov mpoo € mnT o v
Mk 4:34  émélvev én@) £ Av © ev
Mk 8:3 ExlvOricovton éx A 6n o 0 vtal
Mk 8:6 TopéOnkav mop(e) € on Ko v
Mk 8.7 mopotiBéval mopo T10e %) vai
Mk 8:9 anélvoev ar() ¢ AV o(®) ev
Mk 9:1 E0TNKOTOV £ om k(@ ot owv
Mk 9:6 16€1 L & 16 (@) a <
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Mk 9:42
Mk 10:7
Mk 10:21
Mk 10:33
Mk 10:33
Mk 10:34
Mk 10:48
Mk 12:4
Mk 12:25
Mk 12:33
Mk 12:36
Mk 14:58
Lk 1:38
Lk 9:12
Lk 14:14
Lk 22:68
Lk 23:18
Jn 14:28
Jn 15:13
Jn 19:26
Ac 3:13
Ac 5:8
Ac 5:36
Ac 8.7
Ac 15:26
Ac 15:30
Ac 16:36
Ac 16:36
Ac 26:32
Ac 26:32
Ac 28:25
1 Cor 7:3
2 Cor 5:1
2 Cor 7:15
Gal 2:18
Eph 1:6
Heb 3:5
1 Pet 4:19
1Jn 4:10
Jude 2

1
BéBAnTon
KOTOAELYEL KoTo
nycannoev
rapodobriceton  mopo
Katakpivoboly  KoTQ
éunaiovov éu
Emetipwv e(1)
AanéoTelreV ar(o)
avVaoTOOoY avo
ayonav
0
KoTeAVO® Koo
YéVorTo
KQTOUAVOWO 1V Koo
dvtomodobriceTal  AVIOmo
AmOoKpP161 TE ano
amoAvoov ano
nyanate
on
TOPECTATA mop (o)
aroAverv aro
anédooOe arn(o)
dieAvbnoav o (@)
ropoelvuévor  mapo
TaPOSESWKOOT Tapo
amobévieg ano
arnéotaikoy ar(o)
amoAvente amo
droAeAvoban ano
énexékAnto én@)
aneAvovio ar(o)
anod160tw amo
KoToAVOT Kata

GvouvnoKkoUévoy ava
KatéAvoo kat(e)
Tiyarnuéve
AoAnénoouévav
napatibécbwoav mapa
nNyannKouev

mAN6LVOELN

E6. ACCENTS

E6.1 GENERAL PRINCIPLES

2

™

M M
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3 4 ] 6 7 8 9

PREP PAST RDUP LEXAL PASS FUT ASPCT SPEC END

Be  BAn %) Tl
rem c € l
dyonn o ev
60 én o € O
KpLv e ov ow
mou o oV o
T (o) o) 1%
ote.l 1.(oo) ev
ot(®) 0] o
ayar(c) ® @©v
0() 0] %)
Av c o L
YeV o l 70
Av o)/ ow
00 én o € Ton
kpt  6() n T€
Av o(®) ov
dyor(o) ©) TE
6() n 1
ot(®) o)t o
Av © ©v
oo % obe
AV on %) oav

A€ Av %) uev ot

o€ ow k(@ o ot
Oc %) 42

e oral Ko v
AV 6@ n T€

A€ AV %) o6 o

KE  KAR %) 70
Av 0] V10
o160 %) T
v 6@F) n 1
Hiuvnox o UEV 0V
AV oo %)

L ayarn %) Uev @
AaAn 6n o o UEV @V
T10¢ % 08 woav

L ayarnn Ko uev
mAnBvv 6Be %) m 9

E6.11 A brief acquaintance with the basic principles of accentuation can enable the student to
profit from time to time from the information which accents provide. A fuller treatment than given
here is not needed at Beginners/Intermediate level, but will be found in any advanced Greek

grammar.
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E6.12 The accent was not intended to mark stress or emphasis (unlike in English), but tone. The
acute accent () marked a rising tone, the grave accent (') a falling tone, and the circumflex ( *, ~,
or ) arising and then falling tone (a combination of acute and grave).

E6.13 Under normal circumstances, every Greek word carries an accent, except for clitics
(#E6.3), which function as part of an adjoining word.

E6.14 The position of an accent is determined in relation to the end of a word. Whereabouts on a
word that an accent can stand will depend upon whether the last vowel of the word is short or long.
Short vowels (including diphthongs) are: ¢, 1, and v (when short); a1 and o1 when final (except in
the optative); £ and o (always). Long vowels are e, 1, and v (when long); 1, w, and the other
diphthongs.

E6.15 No accent can be placed earlier in a word than the third-last syllable if the last syllable is
short, or the second-last syllable if the last vowel is long.

E6.16 A circumflex can stand only on a diphthong or a long vowel (thus a circumflex indicates
that the vowel over which it is placed is long); an acute or grave can stand on any vowel or
diphthong, long or short.

E6.17 When the last vowel of a word is short and the secopd lagt vowel is long, the latter, if
accented, must carry a circumflex. Thus: Ade, B¢, ADoou, aipe, npav, Aboov; but dpa, dpog,
évo, dye.

E6.2 ACCENT AND POSITION

When the accent falls on: If last vowel is long: If last vowel is short:
E6.21 The last vowel, itmay be "~ or (') itmustbe ~or ()
E6.22 Short 2nd last vowel, it must be ’ it must be ’

E6.23 Long 2nd last vowel, it must be ’ it must be ~ (#E6.17)
E6.24 The third last vowel, (syllable cannot have it) it must be ’

Exception: molews nodewy.

E6.25 When the acute () falls on the last syllable of a word, if that word is followed by another
accented word without any punctuation intervening, the acute changes to the grave (). Thus:
Aéyw yop Yuiv (L5/B1), but eiui yap. (L8/B3); and: 7ov vduov (L4/B18), but 76v mote (see
#E6.32; L4/B13). Exception: interrogative 7ig, 7i (“who, what”) does not change its acute to a
grave. The only time a grave accent is written is when it replaces an acute in accordance with this
rule; but a grave accent is regarded as notionally present upon every vowel which does not bear
another accent.

E6.26 When contraction occurs, if the first of the contracting vowels carried an acute, then this
combines with the notional * on the second of the contracting vowels to form " (that is, *, a
circumflex) on the contracted vowel. Thus AaAéete contracts to Aalgite, and kp1véw contracts to
Kptva (the future active — only distinguishable by this accent from kpiva, the present active).

E6.27 Nouns and adjectives have constant accents: in all the various cases the accent remains
upon the same syllable as in the nominative singular, unless it is pulled towards the end of the word
by a long vowel or affected by contraction. Thus: dvlpwmog, dvBpwmov, but dvepdrwv (because
of #E6.23, #E6.24); kapdic, xapdiaic, but KopSLdv (contraction of xopdidiwv, in accordance
with #E6.26).

E6.28 Verbs have regressive accents: the accent goes back as early in the word as the rules allow.
Thus 10w, éAvouev, Elvov, drdélvoov, dimorye. But the accent cannot go back beyond an augment

.y “wX

or reduplication: 7460v and &£fA60v (not “€EnABov”); ripkev and émfikev, not ETNpkeV”).
Exceptions to the regressive accent rule: the infinitive, participle, imperative.
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E6.3 CLITICS

E6.31 Some words are clitics, a term meaning they “lean on” another word. They are of two
kinds: the enclitic, which “leans on” the word which it follows; and the proclitic, a clitic which is
npo-, “in front of”, the word with which it is associated.

E6.32 An enclitic is pronounced as if it were a part of the word which precedes it (with the
consequence that an acute on the final vowel of that preceding word does not become a grave
under #E6.25), and which throws its accent back on to that word if it can (so that that preceding
word may in consequence have two accents).

E6.33 Enclitics are:

(a) The singular of the oblique cases of the first and second person pronouns, L€, LOV, UOL,
and o€, oov, oot (#D6.3).

(b) The indefinite pronoun 7ig, 7t in all its forms (#D6.6).

(¢) The indefinite adverbs (#7.23): moté, oV, MOBEV, md.

(d) The particles ye, “at least”, 7e, “and/both”, and 7o1, “truly”.

(e) Tfhe present indicative flexion of iui, “I am” (#1.95), except for the 2nd person singular,
£l

() The present indicative flexion of ¢nui, “I say” (#7.64), except for the second person
singular, ¢fj¢ (which does not occur in the New Testament).

E6.34 The “throwing back” of the accent of the enclitic operates in this way:

(a) If the last syllable of the preceding word carries an acute, this does not change to a grave
(#E6.32), and the enclitic’s accent disappears. Thus: Eyd €ipt (L4/B12); 6 dyomntdg
uov (L4/B19).

(b) If the last syllable of the preceding word carries a circumflex, the enclitic’s accent
disappears. Thus: &£ vudv tiveg (L4/B8), 6 maig pov (L4/B19).

(c) If the second-last syllable of the preceding word carries an acute, a monosyllabic enclitic’s
accent disappears. Thus: 1} wiotig cov (L4/B21), driow pov (L6/B4). (If the enclitic has
two syllables, it retains its accent on its second syllable.)

(d) If the second-last syllable of the preceding word carries a circumflex, the enclitic’s acute
is thrown back onto the last syllable of that word. Thus: ododv ue (L4/B1), mveduc
éotiyv (L4/BY).

(e) If the third-last syllable of the preceding word carries an acute, the enclitic’s acute is
thrown back onto the last syllable of that word. Thus: mwioteveté pot (L4/BY), céowkév
oe (L4/B21).

E6.35 A proclitic is a monosyllabic word without an accent of its own, which is closely associated
with the word which follows it (that is, it collocates with what follows it).

E6.36 Proclitics are:
(a) The personal gender nominative forms of the article: 0, 7, oi, ci.
(b) The three monosyllabic prepositions commencing with epsilon: éx/€&, €ig, év.
(c) The conjunctions &, “if”, and @g, “as, when”.

(d) The negative adverb 00, 0vk, 0vy.
E6.37 All these proclitics commence with a vowel.

E6.38 A proclitic is accented when (and only when) it is followed by an enclitic. Thus: &f 715
(L5/BS; L6/B4).

E6.39 When a clitic is emphatic it will be accented. Thus: 6 mpogriTng et ov; OU. (L3/B30.)

API



